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4. (a) Withthe help of neat sketch derive the equé‘tion for the minimum number of teeth on

(b)
(c)

(b)
()

6. (&)

(b)

a pinion for involute rack in order to avoid interference.

Classify chains in details. :

The power is transmitted from a pulley 1 m diameter running at 200 rpm to a pulley
2.25 m diameter by means of a belt. Find the speed lost by the driven pulley as a
result of creep, if the stress on the tight and slack side of the belt is 1-4 MPa and 0-5
MPa respectively. The Young’s Modulus for the material of the belt is 100 MPa.

In a crank and slotted lever quick return motion mechanism, the distance between
the fixed centres is 240 mm and the length of the driving crank is 120 mm. Find the
inclination of the slotted bar with the vertical in the extreme position and the time
ratio of cutting stroke to the return stroke. If the length of the slotted bar is 450 mm,
find the length of the stroke if the line of stroke passes through the extreme positions
of the free end of the lever. _ _
What do you mean by Coriolis component of acceleration ? Draw all the direction of
Coriolis component of acceleration.

State and explain Work Energy principle with the help of an example.

Two mating gears have 20 and 40 involute teeth of module 10 mm and 20° pressure
angle. If addendum on each wheel is such that path of contact is maximum and
interference is just avoided, find the path of contact, arc of contact and contact ratio. -
Also find the addendum for each wheel. -

Two pulleys, one 450 mm diameter and the other 200 mm diameter are on paraliel

~ shafts 1-95 m apart and are connected by cross belt. Find the length of the belt

(c)

required and the angle of contact between the belt and each pulley. What power

can be transmitted by the belt when the"larger pulley rotates at 200 rpm, if the

maximum permissible tension in the belt is 1 x 10® N and the coefficient of friction
between the belt and the pulley is 0-25 ?
Differentiate between involute and cycloidal gear tooth profile.
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